d Y BARIELS
Spare Part List
Evac Skate CD 7-1

FP-20-12







Parts No.

Q,
g

Remarks

Price

Al - FFO5-A1-1
AZ - FFO5-A1-2
A3 - FFO5-A1-B3
A4 - FFO5-A1-B4
A5 — FF05-A1-5

A6 - FFO5-A1-6
A7 -~ FFO5-A1-7
A9 - FF05-A1-10
A10 - FFOS-A1-11
A1l - FF05-A1-12

M6 % 30
M8 X 12
M8 X 16

A12 - FF05-A1-13
A13 - FF0o-AT1-14
A14 - FF05-A2-B1
A15 - FF05-A2-B2
A16 — FFO7-A2-B3

M6

A17 - FF05-A2-4
A18 —~ FF05—-A2-5
A19 - FF05-A2-47
A20 - FF05-A2-B7
A21 - FFO5-A2-B8

A22 - FF05-A2-9

A23 - FA12-A1-35
A24 ~ FF05—-A2-41
A25 - FF05-A2-12
A26 — FF05-A2-13

A27 — FF05-A2-14
AZ8 - FFO5-A2-15
AZ29 - FF05-A2-16
A30 - FF05-A2-B17
A31 — FF05-A2-18

M6 x 30

TOS1.8-12-90° ~2-48

A32 - FF05-A2-20
A33 - FF05-A2-21
A34 - FF05-A2-22
A35 - FF05-A2-48
A36 — FF05-A2-27

[« > T T B AN B N I S S I e D 2 B A N R 2 2 = = 1 B - S N (N e B T

N =5

B-83

MgB X 20
MG X 20
$6x30

A37 - FFO5—-A2-28
A38 —
A39 —
A40 - FF05-A2-31
A4l - FFO7-A3-37

]

SPNG

M6
CC~1624-10

A42 - FF05-A2-37
A44 - FF05-A2-39
A45 —- FF02-A3-1
A46 — FFO2-A3-2
Ad47 — FFO5-A3-B3

A48 — FF05-A3—4
A49 - FFO5-A3-B5
A50 - FF05-A3-B6
AT -

A52 - FF05-A3-8

— = ek RN NN N




ABY -
A90 - FF05-A3-56

M8 X 75 Half Screw

Parts No. |Q'ty Remarks Price
AbB3 -~ FFO05-A3-10 1
ADbD — FF05—-A3~14 1
ABB6 - FF05~-A3-16 2
A57 — FF05-A3-B17 1
AL8 - FF05-A3-B18 1
A59 - FF05-A3—-19 1 MG x16
A60 - FF05-A3-20 1 M5 x 20
AB1 — FFO5-A3-21 1 M5
AB3 - FF05-A3~23 1 8
AbB4 - FF05-A3-24 2 GCBB-2552R
AB5 — FF05-A3-25 2 P6X45
-AB6 — FFO5-A3-26 2 25 (SUS)
AB7 — FF05-A3-27 2 735X 1CD
AB9 — FF05-A3-29 1 C—-16
AT0 ~ FFO5-A3-5H8 1 1.8-12-60° -2-48/70
A71 — FF05-A3-31 6 GB-75W
A72 — FF05-A3—-32 7 M6 X 10
A73 -
A74 — FF05-A3-34 2 16 (SUS) -
A75 - FF05-A3-36 2 2.0-14-70
A76 — FFO5-A3-37 2 M6 x45 4.8
A77 - FF05-A3-39 1 M6
A78 -
A79 - FF05—-A3—-41 1 6
A80 — FF05~-A3-42 1 M6
A81 ~ FF05-A3-43 2 16
AB2 ~ FF05-A3—-44 1 M6 % 20
AB3 — FF05—-A3—-45 1 M8
A84 - FF05~A3-46 1 M8
A85 ~ FFO05~A3—~63 2 M6 X 25
A86 -
A8T -
A88 - FF05-A3-54 4 M6

A91 - FF05-A3-57
AD2 - FF05-A3-22
A93 - CD4-A3-7
A84 - FF05-A2-B38
A95 - FF05-A2-B40

10
3N-19692

A96 - FF05-A2-43
A7 - FFO05-A3-B59
A98 - FF05-A3-60
A99 - FFO5-A3-61
A100 -

— ek eed RO sk eed ek ek med | e

M6x20 8.8

3382330-60030
M6 X 14




M.BARTELS

REHA IM- & EXPORT GMBH

M. BARTELS
Reha Im - & Export GmbH
Fangdieckstr. 68
22547 Hamburg

Tel. +49 (0) 40 | 54 75 33 33

m.bartels@reha-europe.com
www.reha-europe.com

Presented by:




